

①

$$\begin{array}{r} 10 \\ 44 \overline{) 464} \\ \underline{44} \\ 24 \end{array}$$

②

$$\begin{array}{r} 20 \\ 15 \overline{) 302} \\ \underline{30} \\ 2 \end{array}$$

③

$$\begin{array}{r} 10 \\ 28 \overline{) 288} \\ \underline{28} \\ 8 \end{array}$$

④

$$\begin{array}{r} 20 \\ 36 \overline{) 721} \\ \underline{72} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 40 \\ 11 \overline{) 445} \\ \underline{44} \\ 5 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 13 \overline{) 139} \\ \underline{13} \\ 9 \end{array}$$

⑦

$$\begin{array}{r} 20 \\ 39 \overline{) 804} \\ \underline{78} \\ 24 \end{array}$$

⑧

$$\begin{array}{r} 40 \\ 24 \overline{) 965} \\ \underline{96} \\ 5 \end{array}$$

⑨

$$\begin{array}{r} 40 \\ 21 \overline{) 860} \\ \underline{84} \\ 20 \end{array}$$

①

$$\begin{array}{r} 10 \\ 38 \overline{) 381} \\ \underline{38} \\ 1 \end{array}$$

②

$$\begin{array}{r} 20 \\ 36 \overline{) 743} \\ \underline{72} \\ 23 \end{array}$$

③

$$\begin{array}{r} 10 \\ 49 \overline{) 527} \\ \underline{49} \\ 37 \end{array}$$

④

$$\begin{array}{r} 20 \\ 24 \overline{) 502} \\ \underline{48} \\ 22 \end{array}$$

⑤

$$\begin{array}{r} 40 \\ 13 \overline{) 524} \\ \underline{52} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 49 \overline{) 535} \\ \underline{49} \\ 45 \end{array}$$

⑦

$$\begin{array}{r} 10 \\ 15 \overline{) 152} \\ \underline{15} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 10 \\ 22 \overline{) 229} \\ \underline{22} \\ 9 \end{array}$$

⑨

$$\begin{array}{r} 30 \\ 26 \overline{) 794} \\ \underline{78} \\ 14 \end{array}$$

①

$$\begin{array}{r} 20 \\ 37 \overline{) 776} \\ \underline{74} \\ 36 \end{array}$$

②

$$\begin{array}{r} 10 \\ 43 \overline{) 445} \\ \underline{43} \\ 15 \end{array}$$

③

$$\begin{array}{r} 20 \\ 15 \overline{) 314} \\ \underline{30} \\ 14 \end{array}$$

④

$$\begin{array}{r} 10 \\ 29 \overline{) 309} \\ \underline{29} \\ 19 \end{array}$$

⑤

$$\begin{array}{r} 50 \\ 18 \overline{) 909} \\ \underline{90} \\ 9 \end{array}$$

⑥

$$\begin{array}{r} 70 \\ 14 \overline{) 986} \\ \underline{98} \\ 6 \end{array}$$

⑦

$$\begin{array}{r} 60 \\ 15 \overline{) 904} \\ \underline{90} \\ 4 \end{array}$$

⑧

$$\begin{array}{r} 20 \\ 20 \overline{) 412} \\ \underline{40} \\ 12 \end{array}$$

⑨

$$\begin{array}{r} 30 \\ 31 \overline{) 952} \\ \underline{93} \\ 22 \end{array}$$

①

$$\begin{array}{r} 20 \\ 16 \overline{) 321} \\ \underline{32} \\ 1 \end{array}$$

②

$$\begin{array}{r} 20 \\ 19 \overline{) 394} \\ \underline{38} \\ 14 \end{array}$$

③

$$\begin{array}{r} 40 \\ 12 \overline{) 484} \\ \underline{48} \\ 4 \end{array}$$

④

$$\begin{array}{r} 50 \\ 17 \overline{) 855} \\ \underline{85} \\ 5 \end{array}$$

⑤

$$\begin{array}{r} 40 \\ 17 \overline{) 688} \\ \underline{68} \\ 8 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 18 \overline{) 181} \\ \underline{18} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 20 \\ 34 \overline{) 683} \\ \underline{68} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 20 \\ 18 \overline{) 364} \\ \underline{36} \\ 4 \end{array}$$

⑨

$$\begin{array}{r} 10 \\ 33 \overline{) 349} \\ \underline{33} \\ 19 \end{array}$$

①

$$\begin{array}{r} 10 \\ 11 \overline{) 112} \\ \underline{11} \\ 2 \end{array}$$

②

$$\begin{array}{r} 60 \\ 15 \overline{) 901} \\ \underline{90} \\ 1 \end{array}$$

③

$$\begin{array}{r} 60 \\ 11 \overline{) 663} \\ \underline{66} \\ 3 \end{array}$$

④

$$\begin{array}{r} 10 \\ 41 \overline{) 447} \\ \underline{41} \\ 37 \end{array}$$

⑤

$$\begin{array}{r} 10 \\ 12 \overline{) 123} \\ \underline{12} \\ 3 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 35 \overline{) 373} \\ \underline{35} \\ 23 \end{array}$$

⑦

$$\begin{array}{r} 40 \\ 19 \overline{) 764} \\ \underline{76} \\ 4 \end{array}$$

⑧

$$\begin{array}{r} 20 \\ 29 \overline{) 606} \\ \underline{58} \\ 26 \end{array}$$

⑨

$$\begin{array}{r} 30 \\ 30 \overline{) 913} \\ \underline{90} \\ 13 \end{array}$$

①

$$\begin{array}{r} 50 \\ 19 \overline{) 968} \\ \underline{95} \\ 18 \end{array}$$

②

$$\begin{array}{r} 20 \\ 30 \overline{) 603} \\ \underline{60} \\ 3 \end{array}$$

③

$$\begin{array}{r} 10 \\ 29 \overline{) 315} \\ \underline{29} \\ 25 \end{array}$$

④

$$\begin{array}{r} 20 \\ 38 \overline{) 786} \\ \underline{76} \\ 26 \end{array}$$

⑤

$$\begin{array}{r} 40 \\ 15 \overline{) 607} \\ \underline{60} \\ 7 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 22 \overline{) 241} \\ \underline{22} \\ 21 \end{array}$$

⑦

$$\begin{array}{r} 10 \\ 12 \overline{) 129} \\ \underline{12} \\ 9 \end{array}$$

⑧

$$\begin{array}{r} 20 \\ 34 \overline{) 701} \\ \underline{68} \\ 21 \end{array}$$

⑨

$$\begin{array}{r} 20 \\ 13 \overline{) 264} \\ \underline{26} \\ 4 \end{array}$$

①

$$\begin{array}{r} 20 \\ 39 \overline{) 797} \\ \underline{78} \\ 17 \end{array}$$

②

$$\begin{array}{r} 10 \\ 27 \overline{) 281} \\ \underline{27} \\ 11 \end{array}$$

③

$$\begin{array}{r} 20 \\ 24 \overline{) 499} \\ \underline{48} \\ 19 \end{array}$$

④

$$\begin{array}{r} 20 \\ 28 \overline{) 565} \\ \underline{56} \\ 5 \end{array}$$

⑤

$$\begin{array}{r} 10 \\ 12 \overline{) 124} \\ \underline{12} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 30 \\ 32 \overline{) 990} \\ \underline{96} \\ 30 \end{array}$$

⑦

$$\begin{array}{r} 10 \\ 29 \overline{) 306} \\ \underline{29} \\ 16 \end{array}$$

⑧

$$\begin{array}{r} 60 \\ 12 \overline{) 730} \\ \underline{72} \\ 10 \end{array}$$

⑨

$$\begin{array}{r} 10 \\ 40 \overline{) 404} \\ \underline{40} \\ 4 \end{array}$$

①

$$\begin{array}{r} 20 \\ 13 \overline{) 269} \\ \underline{26} \\ 9 \end{array}$$

②

$$\begin{array}{r} 20 \\ 36 \overline{) 751} \\ \underline{72} \\ 31 \end{array}$$

③

$$\begin{array}{r} 50 \\ 16 \overline{) 810} \\ \underline{80} \\ 10 \end{array}$$

④

$$\begin{array}{r} 30 \\ 30 \overline{) 917} \\ \underline{90} \\ 17 \end{array}$$

⑤

$$\begin{array}{r} 10 \\ 21 \overline{) 224} \\ \underline{21} \\ 14 \end{array}$$

⑥

$$\begin{array}{r} 30 \\ 19 \overline{) 580} \\ \underline{57} \\ 10 \end{array}$$

⑦

$$\begin{array}{r} 10 \\ 16 \overline{) 168} \\ \underline{16} \\ 8 \end{array}$$

⑧

$$\begin{array}{r} 10 \\ 42 \overline{) 460} \\ \underline{42} \\ 40 \end{array}$$

⑨

$$\begin{array}{r} 20 \\ 34 \overline{) 693} \\ \underline{68} \\ 13 \end{array}$$

①

$$\begin{array}{r} 10 \\ 25 \overline{) 274} \\ \underline{25} \\ 24 \end{array}$$

②

$$\begin{array}{r} 20 \\ 25 \overline{) 514} \\ \underline{50} \\ 14 \end{array}$$

③

$$\begin{array}{r} 10 \\ 30 \overline{) 322} \\ \underline{30} \\ 22 \end{array}$$

④

$$\begin{array}{r} 70 \\ 13 \overline{) 921} \\ \underline{91} \\ 11 \end{array}$$

⑤

$$\begin{array}{r} 30 \\ 23 \overline{) 711} \\ \underline{69} \\ 21 \end{array}$$

⑥

$$\begin{array}{r} 40 \\ 17 \overline{) 683} \\ \underline{68} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 10 \\ 22 \overline{) 233} \\ \underline{22} \\ 13 \end{array}$$

⑧

$$\begin{array}{r} 10 \\ 28 \overline{) 307} \\ \underline{28} \\ 27 \end{array}$$

⑨

$$\begin{array}{r} 20 \\ 11 \overline{) 221} \\ \underline{22} \\ 1 \end{array}$$

①

$$\begin{array}{r} 40 \\ 16 \overline{) 642} \\ \underline{64} \\ 2 \end{array}$$

②

$$\begin{array}{r} 10 \\ 34 \overline{) 357} \\ \underline{34} \\ 17 \end{array}$$

③

$$\begin{array}{r} 20 \\ 15 \overline{) 304} \\ \underline{30} \\ 4 \end{array}$$

④

$$\begin{array}{r} 10 \\ 16 \overline{) 174} \\ \underline{16} \\ 14 \end{array}$$

⑤

$$\begin{array}{r} 20 \\ 27 \overline{) 547} \\ \underline{54} \\ 7 \end{array}$$

⑥

$$\begin{array}{r} 80 \\ 11 \overline{) 882} \\ \underline{88} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 30 \\ 33 \overline{) 994} \\ \underline{99} \\ 4 \end{array}$$

⑧

$$\begin{array}{r} 40 \\ 11 \overline{) 441} \\ \underline{44} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 70 \\ 12 \overline{) 849} \\ \underline{84} \\ 9 \end{array}$$